Name WOODFORD Series VS Parallel

For questions 1 — 3 consider this circuit

1. How many pathways are there for electricity to flow through? A
ne Patr Power B
2. Is this a series or parallel circuit? Supp!
. Py _@_C
%Q‘r 1 €S

3. If light bulb A was removed would fight bulb B still work? Light buib C?
MDQ al!{ g‘ (ﬁ-%‘ W&PVEQ T sl

For questions 4 through 7 consider-this circuit

- 4. How many pathways are there for electricity to flow through?

~Taree Death Power C
5. s this a series or parallel circuit? Supply ‘3 @ *9
“Vacetel Citcud

6. If alight buib A was removed would Iight bulb B still work? Light bulb C?
AL Ligebs wosud SHIL wierk

7. Would the removal of any light bulb affect the other two?
M@ Mé woeut & =it SR Cnder s e,

Jse the parallel circuit pictured right to answer
questions (a) - (d).

a. What is the vollage across each resistor? 74y o 7 24\ 4‘ ——

b. What is the current in cach branch? ‘?-"'W s,,i L 1]
ve.n S

C. Wimt is the mlal current provided by iha::
d. Uscthe i'oia‘.{ current and the fotal ﬁltagﬂ 1o calculate the total resistance of the eircuit.

v cheral

Use the series cireuit pictured right to answer guestions (a) »
{d).

a.  What is the total resistance of the a:ércuit.‘-.’ii% fLi
Vi T LS IEE Tha 3 TR i .'.’ ’%V « Z.
What is the current in the circuit! 2’““‘% @ JL.5R]
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What is the voltage drop across cach resistorr

e & o

What 15 the sum of the voltage drops across the three
resistors? What do you notice about this sum?

273vels 1 Same amesnt 4y bather
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. Whatsttevolge eross syt 200V = 00 :
. What is the voltage across g clircs u 2005 1003 50) <
What is the current in e : q0Gw 200y 200v
5 B iyl o B il - aom.
What is the total current provzdré by the e e | =
battery? ; [OA 204 b A

[Is¢ the series circuit pictured right to answer questions
‘a), {b), and {c}. Consider cach resistor equal to all others,

. “Te AL
1. What is the resistance of cach resistor? ;Z@v - (o o
| | M % 4

y.  What is the voltage P-4 SRR — 12

x  Onthe diagram, ahm of mmmc mt

circult before and after ear:h resistor,
Coe GOV 0N Qlagrom

A. Find the TOTAL resistance
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